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Introduction
In RAN4#82bis, simulation assumption for eLAA PUSCH is agreed in [1]. In this contribution, we provide our preliminary simulation results based on agreed simulation assumption. 
[bookmark: _Ref178064866]Discussion
[bookmark: _Toc472092067][bookmark: _Toc477793227][bookmark: _Toc477794298][bookmark: _Toc477794306][bookmark: _Toc477794314][bookmark: _GoBack]Simulation results are shown in Figure 1 and Figure 2 for 2 RX. Simulation assumption is aligned with the agreed simulation assumption in [1]. 
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[bookmark: _Ref478160453]Figure 1: Performance for 2 RX with 1 interlace
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[bookmark: _Ref478160464]Figure 2: Performance for 2 RX with 2 interlaces

In Table 1 and Table 2, the target SNRs are given for 1 interlace and 2 interlaces. 

[bookmark: _Ref478142486]Table 1: Target SNR for different FRC (interlace =1)
	Number of TX antennas
	Number of RX antennas
	Propagation conditions and correlation matrix (Annex B)
	FRC
(Annex A)
	SNR
[dB]

	1
	2
	EPA 5Hz Low
	QPSK 1/3
	-1

	
	
	
	16QAM ¾
	9.2

	
	
	
	64QAM 5/6
	15.4

	
	4
	EPA 5Hz Low
	QPSK 1/3
	TBD

	
	
	
	16QAM ¾
	TBD



[bookmark: _Ref478157167]Table 2: Target SNR for different FRC (interlace =2)
	Number of TX antennas
	Number of RX antennas
	Propagation conditions and correlation matrix (Annex B)
	FRC
(Annex A)
	SNR
[dB]

	1
	2
	EPA 5Hz Low
	QPSK 1/3
	-1.8

	
	
	
	16QAM ¾
	9.5

	
	
	
	64QAM 5/6
	15.7

	
	4
	EPA 5Hz Low
	QPSK 1/3
	TBD

	
	
	
	16QAM ¾
	TBD



In Figure 3, the performance of two interlaces and one interlace are compared. From the comparison, we can see that the performance of two interlaces are very close with 1 interlace.  
[image: ]
[bookmark: _Ref478159723]Figure 3: Performance comparison between 1 interlace and 2 interlaces
Thus, we have the following observation:
[bookmark: _Toc478160020]The performance for two interlaces and one interlace is very similar

Based on this observation, we just need to select one option from one interlace or two interlace for the final performance requirements. Compared with two interlaces, one interlace is the minimum resource unit for eLAA PUSCH. It can be used to verify the channel estimation for the minimum resource unit. Further, the performance is slightly worse than 2 interlaces. Thus, we slightly prefer one interlace in the final performance requirements. 
Furthermore, since the gap between the contiguous interface allocation and single interlace allocation is marginal, it is questionable to set one purpose to verify DM-RS channel estimation performance with contiguous interlace allocation. Thus, we propose:
[bookmark: _Toc478160202]It is not necessary to set a dedicated test purpose to verify DMRS channel estimation performance with continuous interlace allocation. 
[bookmark: _Toc478160203]One interlace is slightly preferred for the test as minimum performance requirements

Conclusion
In this contribution, preliminary simulation results are provided. Based on the results, we have the following observation:
Observation 1	The performance for two interlaces and one interlace is very similar

Based on the above observation, we have the following proposal:
Proposal 1	It is not necessary to set a dedicated test purpose to verify DMRS channel estimation performance with continuous interlace allocation.
Proposal 2	One interlace is slightly preferred for the test as minimum performance requirements
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